
HW23: Unit 2 Review (DERIVATIVES) 
 

Find the following. 
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5.    If  f(x) = x3 −2x2 + 7 , then  f ‘ ( −1 ) =   6.    If  f(x) =2x − 11, then  f ‘ ( 7 ) = 
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11.    If  f(x) = 2 tan2x, find f ‘ ( x ) 12.     If  y = sin 2x ,  find y ‘ ( x ) 
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15.   If f( x ) = 3x  , then f ‘ ( 3 ) = 16.   The fourth derivative of   f(x) = (3x − 7 )4 is  
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19.   If  y2 + 3xy = 19, then 
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21.   If x2y + xy2 = 6, then, at the point ( 1, 2 ) , y ‘ is 
 
 
  
 
 



22.   Find the equation of the line that is tangent to  x + xy  = 6 at ( 4, 1 ) 
 
 
      
23.   Let f(x) = 5x3 − 3x − 1.  Find an equation of the tangent to f(x) at x = −1. 
 
 
 
24.   Find the point(s) on the curve y = 2x3 −3x2 − 12x + 20 where the tangent  
 

     (A) is perpendicular to y = 1 − 
x
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 (B) is parallel to y = 2  − 12x 

 
 
 
25.   Find the point on the graph of y = 4 x  at which the tangent line has the same slope as the line 

through ( 5, 1 ) and ( 9, 3 ). 
 

 
 
26.   If  h(x ) = f(g(x)) find  h’ (3).  if   f’ (3)=5, f’ (7)=6,  g’ (3)=8,    g (3)=7 
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Differentiate. 
28.   3ln(cos (3 ))y x=     29.   2( 1)secy x x= +    
 
30.   ( )cos 5y x=     31.   3 10(1 sec ( ))y x= +    
 
32.   h(x) = 21 arcsinx x−    33.   y = arctan (cos θ) 
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36.   3( ) 6 xh x =   37.   (sin )xy x=    

 
 

Given g(x) = f-1(x), find the following. 
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23. y = 12x + 9 
24. A) (3,11) and (-2, 16)) B) (0, 20) and (1, 7) 
25. (16, 16) 
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